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Ukazatel jednotky 19.1. 19.4 12.7. 11.10.
Barva mg/l Pt 20 2 <2 <2 <2
Zakal ZF 5 0,17 0,31 0,13 0,5
Pach| pfijatelny/nepfijatelny | pfijatelny | piijatelny | piijatelny | piijatelny
Elektricka konduktivita mS/m 125 24,4 24 239 24,4
pH 6,5-9,5 7,9 8,4 8,3 8
CHSKwn
mg/I 3 1,28 0,74 0,71 0,91
(chemicka spotieba kysiku) 9
Zelezo mg/I 0,2] <0,05 <0,05 0,05 <0,05
Mangan mg/l 0,05 <0,05
Amoniak, NH," mg/I 0,5] <0,10 <0,10 <0,10 <0,10
Dusitany mg/I 0,5] <0,01 <0,01 0,06 0,02
Dusi¢nany mg/l 50 6,2 7,49 5,18 9,28
Chloridy mg/l 100 9,04
Sirany mg/l 250 47,4
Vapnik mg/l] 40-80 29,9
Hof¢ik mg/Il 10 2,99
Ca+Mg mmol/Il 2-35 0,93
Fluoridy mg/l 15 <0,1
Hlinik mg/Il 0,2 0,02
Bor mg/I 1 <0,10
Chut’| ptijatelnd/nepiijatelna | pftijatelnd | piijatelna | piijatelna | piijatelna
Chlor volny mg/I 0,3 0,08 0,09 0,11 0,14
CN-celkové mg/I 0,05 <0,005
Kadmium pg/l 5 <0,05
Med mg/I 1 <0,01
Nikl mg/Il 0,02 <0,001
Olovo mg/Il 0,01 <0,001
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Ukazatel jednotky 19.1. 19.4 12.7. 11.10.
Chrom celkovy mg/I 0,05 <0,0005
Rtut’ mg/I 0,001 <0,0005
Arsen mg/I 0,01 <0,001
Selen mg/l 0,01 <0,005
Antimon pg/l 5,000 <2,0
Sodik mg/I 200 8,18
Bromicnany pg/l 10,00 <3
Koliformni bakterie] KTJ/100ml 0 0 0 0 0
Escherichia coli] KTJ/100ml 0 0 0 0 0
Enterokoky| KTJ/100ml 0 0
Clostridium perfringens | KTJ/100ml 0 0 0 0 0
Pocty kolonii pti 36 °C|  jedinci/ml 20 2 0 0 0
Pocty kolonii pti 22 °C KTJ/ml 200 0 0 0 0
Abioseston % 10 1 <1 <1 <1
Organismy zivé|  jedinci/ml 0 0 0 0 0
Mikroskopicky obraz|  jedinci/ml 50 0 18 4 0
Benzo[a]pyren pg/l 0,01 <0,005
Suma PAU(polycyklické
aromatické uhlovodiky) ne/l 0.1 <001
Chloroform pg/l 30 7,59
THM (trihalomethany) pg/l 100 9,34
TCEthen (trichlorethen) pg/l 10 <0,20
PCEthen (tetrachlorethen) pg/l 10 <0,20
Benzen pg/l 1 <0,20
1,2-DCEthan pg/l 3 <0,20




